
1 次の計算をしましょう。

4 2
① 1 ＋ 1 ＝5 5

＝4 4

日にち：　　　月　　　日

名まえ

8

② 1

＝9 9
6 1

③ 3 ＋ 1

3 2＋ 3

① ＋ ＝ ④ − ＝6 6 7 7
5 2

8 5 6

④ 2

2 次の計算をしましょう。

6

3 2＋ 4 ＝8

5 4

② ＋ ＝ ⑤ ＋2 2 8 8
1 ＝

6
③ − ＝ ⑥ − ＝3 3 6

7

⑬ 仕上げ

13

23

14



日にち：　　　月　　　日

名まえ

1 次の計算をしましょう。

4 2
① 1 ＋ 1

4 4

6 1
③ 3 ＋ 1

＝5 5

3 2
② 1 ＋ 3 ＝

＝9 9

3 2
④ 2 ＋ 4 ＝8 8

2 次の計算をしましょう。

5 2 7 6
① ＋ ＝ ④ −6 6 6

② ＋ ＝ ⑤ ＋ ＝2 2 2 8
1 8 9 5 6

③ − ＝ ⑥ − ＝3 3 3 6
7 5 4

6

9 7＋ ＝5 5 5

8 8

1

7 7 7
8

7 ＋ ＝4 4 4

6

＋ ＝8 8 8

＋ ＝9 9 9

＝

⑬ 仕上げ 答え

13

23

14

16

21

33 4310

19 5334

16

14

11


